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Navn:__ Dato:_ Score:__
4x10= 103 =
107% = 1002 =
100D = 1003 =
1072 = 642,2+ 107 =
896,9+ 1072 = 3x 10% =
107 = 252,1x 1002 =
796, 8 x 102 = 2% 107 =
464,5 x 107 = 770,9 + 10* =
7x 1000 = 1003 =
“3x 100D = 1002 =
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Negative eksponenter pd 10

Navn:
4% 10 = 40
107% = 0.0001
1077 = 0.1
1072 = 0.01
896, 9 + 107 = 89690
107% = 0.001
796, 8 x 1002 = 7.968
464, 5 x 10 = 0.04645
7% 1070 =0.7

-3x100Y =-03

Dato: Score:

107 = 0.001

1072 = 0.01

107 = 0.001

642,2 + 1077 = 642200
3 x 10% =300

252,1x 1072 =2.521
2 x 107 = 0.002
770,9 + 10* = 7.709
107 = 0.001

1002 = 0.01
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